

60 : $\frac{1}{x^2} = x^{-2}$ $\frac{d}{dx} x^{-2} = -2x^{-3}$ $= -\frac{2}{x^3}$	$\frac{d}{dx} \left(\frac{1}{x^2} \right) = -\frac{2}{x^3}$ $= -\frac{2}{x^3}$	$\frac{d}{dx} x^{-2} = -2x^{-3}$ $= -\frac{2}{x^3}$
$\frac{d}{dx} x^{-2} = -2x^{-3}$ $= -\frac{2}{x^3}$	$\frac{d}{dx} x^{-2} = -2x^{-3}$ $= -\frac{2}{x^3}$	$\frac{d}{dx} x^{-2} = -2x^{-3}$ $= -\frac{2}{x^3}$

الاص

1. $\frac{d}{dx} x^{-2} = -2x^{-3} = -\frac{2}{x^3}$
 2. $\frac{d}{dx} x^{-2} = -2x^{-3} = -\frac{2}{x^3}$
 3. $\frac{d}{dx} x^{-2} = -2x^{-3} = -\frac{2}{x^3}$
 4. $\frac{d}{dx} x^{-2} = -2x^{-3} = -\frac{2}{x^3}$
 5. $\frac{d}{dx} x^{-2} = -2x^{-3} = -\frac{2}{x^3}$
 6. $\frac{d}{dx} x^{-2} = -2x^{-3} = -\frac{2}{x^3}$

(يتصرف)

60 : $\frac{1}{2} \times \frac{3}{4}$ $\frac{1}{2} \times \frac{3}{4} = \frac{1 \times 3}{2 \times 4} = \frac{3}{8}$ $\frac{3}{8} \times \frac{2}{3} = \frac{3 \times 2}{8 \times 3} = \frac{2}{8} = \frac{1}{4}$ $\frac{1}{4} \times \frac{4}{5} = \frac{1 \times 4}{4 \times 5} = \frac{4}{20} = \frac{1}{5}$ $\frac{1}{5} \times \frac{5}{6} = \frac{1 \times 5}{5 \times 6} = \frac{5}{30} = \frac{1}{6}$	$\frac{1}{2} \times \frac{3}{4} = \frac{3}{8}$ $\frac{3}{8} \times \frac{2}{3} = \frac{2}{8} = \frac{1}{4}$ $\frac{1}{4} \times \frac{4}{5} = \frac{4}{20} = \frac{1}{5}$ $\frac{1}{5} \times \frac{5}{6} = \frac{5}{30} = \frac{1}{6}$ 2010 - 2009	$\frac{1}{2} \times \frac{3}{4} = \frac{3}{8}$ $\frac{3}{8} \times \frac{2}{3} = \frac{2}{8} = \frac{1}{4}$ $\frac{1}{4} \times \frac{4}{5} = \frac{4}{20} = \frac{1}{5}$ $\frac{1}{5} \times \frac{5}{6} = \frac{5}{30} = \frac{1}{6}$
---	---	--

العدد: 20/.....

I - الفهم :

① $\frac{1}{2} \times \frac{3}{4} = \frac{3}{8}$: 0,5

..... $\frac{1}{2} \times \frac{3}{4} = \frac{3}{8}$

..... $\frac{3}{8} = \frac{3}{8}$

① $\frac{1}{2} \times \frac{3}{4} = \frac{3}{8}$

① $\frac{1}{2} \times \frac{3}{4} = \frac{3}{8}$

①.5 $\frac{1}{2} \times \frac{3}{4} = \frac{3}{8}$

II - المكتسبات اللغوية : (الشكل ضروري)

النحو :

① $\frac{1}{2} \times \frac{3}{4} = \frac{3}{8}$

① $\frac{1}{2} \times \frac{3}{4} = \frac{3}{8}$

① $\frac{1}{2} \times \frac{3}{4} = \frac{3}{8}$

② $\frac{1}{2} \times \frac{3}{4} = \frac{3}{8}$

① : $\frac{1}{2} \times \frac{3}{4} = \frac{3}{8}$

$\frac{1}{2} \times \frac{3}{4} = \frac{3}{8}$

① :

①.5 : $\frac{1}{2} \times \frac{3}{4} = \frac{3}{8}$

$\frac{1}{2} \times \frac{3}{4} = \frac{3}{8}$	$\frac{3}{8} \times \frac{2}{3} = \frac{2}{8} = \frac{1}{4}$	$\frac{1}{4} \times \frac{4}{5} = \frac{4}{20} = \frac{1}{5}$
.....		

الصرف : (الشكل ضروري)

1 : [↓]

..... /

1.5 :

..... "....."

..... (.....)

..... (.....)

..... (.....)

2 : ↑

.....

..... (.....)

..... (.....)

..... (.....)

III - الإنتاج الكتابي : 6

.....

.....

(.....)

.....
.....
.....
.....
.....
.....
.....
.....
.....